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Question Id : 9209069113 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lisutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
government responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central povernment, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected government. Hobbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
povernment, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and Dhstriet Cricket Association, again because of the absence of the L(3's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BSES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without eommunicating the decision of the
LG for his Views. The only consolation for the elected government was the court saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that beyond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issuez of the wvarious
notifications published by Delhi government in exercise of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled “services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209069114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090636001. 1
92090636002. 2
92090636003. 3
92090636004. 4

Question Number : 2 Question Id : 9209069115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090636005. 1
92090636006. 2
92090636007. 3
92090636008. 4

Question Number : 3 Question Id : 9209069116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090636009. 1
92090636010. 2
92090636011. 3
92090636012. 4

Question Number : 4 Question Id : 9209069117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090636013. 1
92090636014. 2

92090636015. 3
92090636016. 4

Question Number : 5 Question Id : 9209069118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090636017. 1
92090636018. 2
92090636019. 3
92090636020. 4

Question Id : 9209069113 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes
Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



HISTORY OF TUSSLE: After see-saw battle in various courts,
final word from SC

MNew Delhi: It was a earefully worded notification issued by the Union
ministry of home affairs (MHA) in May 2015 that led to Thursdav's ruling of the
Supreme Court on who holds the reins of power in Delhi.

Faced with an ongoing tussle between the lieutenant governor and the newly
elected Delhi Chief minister over the appointment of bureaucrats in 2015, the Central
povernment responded with the notification making the LG effectively the person in
charge of the capital and handed him full control of ‘service’, or the administrative
prerogative to post or transfer civil servants in Delhi.

Three key subjects-public order, police and land-were under the jurisdiction
of the central government, while sectors such as health, education, agriculture, forest
and transport fell under Delhi's elected povernment. Robbed of the authority it had
shared with the LG since 1991, when an elected legislature was put in place for the
capital, the AAP government approached Delhi High Court.

After several hearings, in 2016 the high court came out with the first
comprehensive ruling on the vexed constitutional status, but decided against the AAP
government, concluding that LG was the de-facto boss of Delhi who wasn't bound by the
aid and advice of the state cabinet.

The court upheld the MHA notification ad quashed those issued by the state
povernment, ruling them illegal because they were issued without the LG's concurrence
even when several of these were not related to police, public order or land, the explicit
no-go areas. The court also upheld the barring of Delhi government employvees, while
setting aside the AAP povernment’s commission of inguiry into CNG fitness and Delhi
and District Cricket Association, again because of the absence of the LG's concurrence.

The high court alse held as illegal the appointment of the elected
povernment's nominee directors on the boards of BSES Rajdhani Power Lid, BRES
Yamuna power Ltd and Tata Power Delhi Distribution Ltd by Delhi power company Ltd
on the recommendations of the chief minister without communicating the decizsion of the
LG for his Views. The only consolation for the elected government was the eourt saying
the LG could appoint special public prosecutors only on the aid and adviee of the council
of ministers.

The battle moved to the Supreme court where a constitution bench took up
the clutch of petitions and delivered a landmark ruling in 2018 reversing the high
court's decision. The apex court was categorical that bevond the excluded categories of
land, public order and police, the LG did not have independent decizion-making powers
and was bound to act on the aid and advice of the ministers. The bench made it clear

that though the decizions of the communicated to the LG, this did not mean his
concurrence was required in every case.

The Supreme court bench also clarified that issues of the wvarious
notifications published by Delhi povernment in exercize of its administrative and
legislative powers would be dealt with separately by an appropriate smaller bench.
While a huge boost for the AAP povernment, the constitution bench verdict still left the
contentious issue of control of “services’ open, ending with a two-judge bench delivering
a split verdict in February 2019,

After the Centre sought a re-interpretation of Article 239AA of the
constitution by a constitution bench on who controlled ‘services', the Supreme Court's
ruling on Thursday divested the LG of the power crystallised first by the 2015 MHA
notification.

Sub questions

Question Number : 1 Question Id : 9209069114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements @ One is labelled as Assertion (A) and the other is labelled as

Reason (R).

Statement I : After several hearings, in 2016 the High court came out with the first
comprehensive ruling on the vexed consititutional government, concluding

that LG was the defacto boss of Delhi.

Statement 11 : The High Court also held as illegal the appointment of the elected
government’s nominee directors on the boards of BSES Rajdhani Power
Lid, BSES Yamuna Power Ltd.

In the light of the above statements, choose the most appropriate answer from the options

given balow :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3] {A) is true but (R) is false

{4) (A) 1= false but (R) is true

Options :

92090636001. 1
92090636002. 2
92090636003. 3
92090636004. 4

Question Number : 2 Question Id : 9209069115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word “Rein” is :-

(1) Restrain (2) Rehear
(3 Recharge {(4) Remove

Options :

92090636005. 1
92090636006. 2
92090636007. 3
92090636008. 4

Question Number : 3 Question Id : 9209069116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What are the three key subjects that were under the jurisdiction of the Central Government?

(1) Public order, Police and Land (2) Health, Education and Land
(3 Public order, Education, Health (4) Public order, Transport, Agriulture

Options :

92090636009. 1
92090636010. 2
92090636011. 3
92090636012. 4

Question Number : 4 Question Id : 9209069117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One is labelled as Aszertion (A) and the other is labelled as

Reason (R).

Azsertion (A) LG could appoint special public prosecutors without the aid and adviee of

the eouncil of ministers.

Assertion (R) :  The Supreme court bench also clarified that issues of the various
notification published by Delhi government in exercise of itz administrative
and lepislative power would be dealt with separately by an appropriate

amaller bench.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true
(2) Both (A) and (R) are false
(3) {A) is true but (R) is false
(4) {A) is falso but (R) is true
Options :
92090636013. 1
92090636014. 2

92090636015. 3
92090636016. 4

Question Number : 5 Question Id : 9209069118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the word ‘de-facto’ is :-

(1) Actual (2) DeJure
(3) Defang {(4) In fact
Options :

92090636017 1
92090636018. 2
92090636019. 3
92090636020. 4

Sub-Section Number : 2
Sub-Section Id : 920906296
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 9209069119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint accuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E).(O), (B). (D). (A)
2)  (E)(B), (D). (C). (A)
(3) (B (C), (D). (E). (A)
(4)  (B). (D). (C). (A). (E)

Options :

92090636021. 1
92090636022. 2
92090636023. 3
92090636024. 4

Question Number : 6 Question Id : 9209069119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Make a Meaningful paragraph:
(A) A great deal of skill and patience is needed for this, since diamond is the harders
natural substance in the world.

(B) The high refractive index of the diamond means that with proper cutting all the light
can be reflected.

(C)  To show this fire and brilliance it must be cut & faceted with pinpoint aceuracy.

(D) Its brilliance is also caused by the light that enters it being broken up into the
separate colours of the spectrum making its reflections multicoloured.

(E) An uncut diamond, no matter how large, looks as unimpressive as a rough lump of
cloudy glass.

Choose the correct answer from the options given below :

(1) (E).(O), (B). (D). (A)
2)  (E)(B), (D). (C). (A)
(3)  (B)(O), (D). (E). (A)
(4)  (B). (D). (C). (A). (E)

Options :

92090636021. 1
92090636022. 2
92090636023. 3
92090636024. 4

Question Number : 7 Question Id : 9209069120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3 Partiality (4) Rough
Options :

92090636025. 1
92090636026. 2
92090636027. 3
92090636028. 4

Question Number : 7 Question Id : 9209069120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The most suitable antonym of the given word “NEPOTISM" is:-

(1) Feminism (2) Impartiality
(3) Partiality (4) Rough
Options :

92090636025. 1
92090636026. 2
92090636027. 3
92090636028. 4

Question Number : 8 Question Id : 9209069121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Potboiler (2) Pork
(3) Prescient {(4) Primadonna
Options :

92090636029. 1
92090636030. 2
92090636031. 3
92090636032. 4

Question Number : 8 Question Id : 9209069121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A book of low quality produced quickly to get money:-

(1) Pothoiler (2) Pork
(3) Prescient (4) Primadonna
Options :

92090636029. 1
92090636030. 2
92090636031. 3
92090636032. 4

Question Number : 9 Question Id : 9209069122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :
(1

(2
(3
(4

There is nothing that is more engaging than

)

) I do nothing more engaging other than
) I know of nothing more engaging than
)

There is nothing engaging for me other than

Options :

92090636033. 1
92090636034. 2
92090636035. 3
92090636036. 4

Question Number : 9 Question Id : 9209069122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

As an art connoisseur, there is nothing more engaging than visiting famous art galleries to
enjoy and appreciate the work of great artists.

Choose the correct option to replace the underlined segment and improve the given sentence :

(1) There is nothing that is more engaging than

(2) I do nothing more engaging other than

(3) I know of nothing more engaging than

(4) There is nothing engaging for me other than
Options :

92090636033. 1
92090636034. 2
92090636035. 3
92090636036. 4

Question Number : 10 Question Id : 9209069123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090636037. 1
92090636038. 2
92090636039. 3
92090636040. 4

Question Number : 10 Question Id : 9209069123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correctly spelt word from the given options:-

(1) ASIMILLATE (2) ASSIMILATE
(3) ASEMILATE (4) ASEMELATE
Options :

92090636037. 1
92090636038. 2
92090636039. 3
92090636040. 4

Question Number : 11 Question Id : 9209069124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in em?) of a cuboid with dimensions 3em., 4em and Sem is

(1) 47 (2) &0
(3) 60 4y 94
Options :

92090636041. 1
92090636042. 2
92090636043. 3
92090636044. 4



Question Number : 11 Question Id : 9209069124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The surface area (in cm?) of a cuboid with dimensions 3cm, 4em and Sem is

(1) 47 (2) &0
(3) 60 (4) 94
Options :

92090636041. 1
92090636042. 2
92090636043. 3
92090636044. 4

Question Number : 12 Question Id : 9209069125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 26 = 1, then the value of tan20 + cos20 1s

@ 5 (2)

[
—

5 &

(3) (4)

|

s
243
Options :
92090636045. 1
92090636046. 2

92090636047. 3
92090636048. 4

Question Number : 12 Question Id : 9209069125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If 2 sin 28 = 1, then the value of tan20 + cos20 1s

M =B (2)

¥
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R
243
Options :
92090636045. 1
92090636046. 2



92090636047. 3
92090636048. 4

Question Number : 13 Question Id : 9209069126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity =old at 18% profit is
(1) 250 kg (2) 300 kg
() 500 kg (4) 750 kg
Options :
92090636049. 1
92090636050. 2
92090636051. 3
92090636052. 4

Question Number : 13 Question Id : 9209069126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A merchant had 1000kg of grain, a part of which he sold at 10% profit and the rest at 18%
profit. He gains 16% on the whole. The quantity sold at 18% profit is

(1) 250kg (2) 300 kg
(3) 500 kg {4) 750 kg
Options :

92090636049. 1
92090636050. 2
92090636051. 3
92090636052. 4

Question Number : 14 Question Id : 9209069127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 vears and to Hs 568 in 7 yvears with the same rate
of simple interest?

(1) Es 400 (2) Rs 420
(3) Hs 410 (4) Hs 320
Options :

92090636053. 1
92090636054. 2



92090636055. 3
92090636056. 4

Question Number : 14 Question Id : 9209069127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What sum of money will become Rs 520 in 5 vears and to Hs 568 in 7 yvears with the same rate
of simple interest?

(1) Es 400 (2) Rs 420
(3) Hs 410 (4) Hs 320
Options :

92090636053. 1
92090636054. 2
92090636055. 3
92090636056. 4

Question Number : 15 Question Id : 9209069128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 2 7

(3) 6 (4 B

Options :

92090636057. 1
92090636058. 2
92090636059. 3
92090636060. 4

Question Number : 15 Question Id : 9209069128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A and B can do work in 12 days and 24 days respectively. They started working together but
left the work 3 days before its completion and thereafter B alone completed the work. For how
many days A worked with B?

(1) 5 2z 7

(3) 6 (4 B



Options :

92090636057. 1
92090636058. 2
92090636059. 3
92090636060. 4

Question Number : 16 Question Id : 9209069129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3) MNorth {(4) South
Options :

92090636061. 1
92090636062. 2
92090636063. 3
92090636064. 4

Question Number : 16 Question Id : 9209069129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I start from my home and go 5km straight. Then, I turn towards my right and go 2km. I turn
again towards my right and go 2km again. If | am north-west from my house, then in which
direction did I go in the beginning?

(1) East (2) West
(3 North (4) South
Options :

92090636061. 1
92090636062. 2
92090636063. 3
92090636064. 4

Question Number : 17 Question Id : 9209069130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that

code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (49 MORBELP
Options :

92090636065. 1
92090636066. 2
92090636067. 3
92090636068. 4

Question Number : 17 Question Id : 9209069130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a certain language GENERAL is coded as LNEEARG. How is PROBLEM coded in that
code?

(1) MOREBLP (2) MROEBLP
(3) MROBELP (4) MORBELP
Options :

92090636065. 1
92090636066. 2
92090636067. 3
92090636068. 4

Question Number : 18 Question Id : 9209069131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12. 18, 277

(1) 31 1/2 (2) 40 1/2
(3) 31 (4) 40
Options :

92090636069. 1
92090636070. 2
92090636071. 3
92090636072. 4



Question Number : 18 Question Id : 9209069131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct alternative that will replace the question mark in the given series: 16/3, 8,
12, 18, 27 ?

(1) 31 1/2 (2) 4012
(:3) 31 (4) 40
Options :

92090636069. 1
92090636070. 2
92090636071. 3
92090636072. 4

Question Number : 19 Question Id : 9209069132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying, “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090636073. 1
92090636074. 2
92090636075. 3
92090636076. 4

Question Number : 19 Question Id : 9209069132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

K introduces M saying. “He is the husband of the grand-daughter of the father of my father.”
How is M related to K?

(1) Uncle (2) Brother
(3) Brother-in-law {(4) Cousin
Options :

92090636073. 1
92090636074. 2
92090636075. 3



92090636076. 4

Question Number : 20 Question Id : 9209069133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as

Reason (R).

Asggertion (A):  The common value of all religion should be taught to the children in our

schools.

Reasons (B) - Yes, it will help inculeation of moral values amongst the children of our

country.

In the hight of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 18 true but (R) 15 false

(4) {A) 15 falzse but (R) 1s true

Options :

92090636077. 1
92090636078. 2
92090636079. 3
92090636080. 4

Question Number : 20 Question Id : 9209069133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R).

Assertion (A):  The common value of all religion should be taught to the children in our

schools,

Reasons (R) : Yes, it will help inculcation of moral values amongst the children of our

country.

In the light of the above statements, choose the most appropriate answer from the options

given below ;

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) {A) 15 true but (R) 1s false

{4) {A) 15 false but (R) 1s true

Options :

92090636077. 1
92090636078. 2
92090636079. 3
92090636080. 4

Question Number : 21 Question Id : 9209069134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with Last 1T :

List I List 1T
(Institute) (Location)
(A} National Institute of Ayurveda (' Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{() MNational Institute of Unani Medicine (III}) Kolkata
{D) National Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A0, (B)-(ID), (O)-(I1D), (D)-(IV)
(2 (A, (B)-(ID), (C)-(ID), (D)-(IV)
(3 (L-IV), (B)-(11D), (C)-(11), (D)-(T)
@ (A-V), (B)-(ID), (C)-(III), (D)-(T)

Options :



92090636081. 1
92090636082. 2
92090636083. 3
92090636084. 4

Question Number : 21 Question Id : 9209069134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List T with Last I1 :

List 1 List I1
(Institute) (Location)
(A) National Institute of Ayurveda Il Chennai

(B) National Institute of Homoeopathy (I} Bengaluru
{C) MNational Institute of Unani Medicine (11T} Kolkata
(D) MNational Institute of Siddha (IV) Jaipur

Choose the correct answer from the options given below:

(1) (A)-(1), (B)-(1I), (C)-(11I), (D)-(IV})
(2) (A)-(T), (B)-(II), (C)-(1T), (D)-(IV})
(3) {A)-(TV), (B)-(11D), (C)-(IT), (D)-(T)
(4} {A)-(IV), (B)-(IT), (C)-(I1T), (D)-(T)

Options :

92090636081. 1
92090636082. 2
92090636083. 3
92090636084. 4

Question Number : 22 Question Id : 9209069135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements ;

Statement [ : Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

Institutions.

Statement 11 : Lokpal will be the highest institution in India to investigate corruption

at higher place in the Government.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement 11 are true
(2) Both Statement | and Statement I are false
(3) Statement [ is true but Statement I is false

{4) Statement 1 is false but Statement 11 15 true

Options :

92090636085. 1
92090636086. 2
92090636087. 3
92090636088. 4

Question Number : 22 Question Id : 9209069135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement 1 :  Report of the Administrative Reform commission, headed by Mararji
Desai, recommended the establishment of Lokpal and Lokayukta

institutions.
Statement 11 :  Lokpal will be the highest institution in India to investigate corruption
at higher place in the Government.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement | and Statement I are true
(2) Both Statement I and Statement 11 are falsze
(3) Statement I is true but Statement I is false

(4) Statement 1 is false but Statement 11 1s true

Options :



92090636085. 1
92090636086. 2
92090636087. 3
92090636088. 4

Question Number : 23 Question Id : 9209069136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1 June, 1918 (2) 13* April, 1919
(3) 14tk April, 1920 (4) 6% July, 1921
Options :

92090636089. 1
92090636090. 2
92090636091. 3
92090636092. 4

Question Number : 23 Question Id : 9209069136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The massacre of the crowd at Jallianwala Bagh at Amritsar took place on

(1) 1# June, 1918 (2) 13 April, 1919
(3) 14tk April, 1920 (4) 6% July, 1921
Options :

92090636089. 1
92090636090. 2
92090636091. 3
92090636092. 4

Question Number : 24 Question Id : 9209069137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Indian Economy is characterised by:

(A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
() Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given below :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B), (C) and (D) only
{4) {A), (C) and (D) only

Options :

92090636093. 1
92090636094. 2
92090636095. 3
92090636096. 4

Question Number : 24 Question Id : 9209069137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Indian Economy is characterised by:

{A) Pre-dominance of Agriculture
(B) Pre-dominance of Industry
(C) Low per capita Income

(D) Massive unemployment

Choose the most appropriate answer from the options given helow :

(1) (A) and (B) only

(2) (A), (B) and (C) only
(3) (B). (C) and (D) only
i(4) (A), (C) and (D) only

Options :

92090636093. 1
92090636094. 2
92090636095. 3
92090636096. 4



Question Number : 25 Question Id : 9209069138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3 Surface tension (4) Viscosity
Options :

92090636097. 1
92090636098. 2
92090636099. 3
92090636100. 4

Question Number : 25 Question Id : 9209069138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Soap bubble attains spherical shape due to

(1) Inertia (2) Pressure
(3 Surface tension (4) Viscosity
Options :

92090636097. 1
92090636098. 2
92090636099. 3
92090636100. 4

Part B: Pali

Section Id : 920906182
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906297

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 9209069139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

it sfa gET uiferd gifd
1. efEE
2. @l
3. @il
4. Wi
Options :

92090636101. 1
92090636102. 2
92090636103. 3
92090636104. 4

Question Number : 26 Question Id : 9209069139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e gid el ferd gifa
1. &=
2. @hE
3. @rr
4. @
Options :

92090636101. 1
92090636102. 2
92090636103. 3
92090636104. 4

Question Number : 27 Question Id : 9209069140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : o 9didd ©U g Tegur|
Reason (R) : Ocd GulfHEFHIT Ol UHl|

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3.  (A)is correct but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636105. 1
92090636106. 2
92090636107. 3
92090636108. 4

Question Number : 27 Question Id : 9209069140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : [ daf¥d &4 HeaHiafd geauri
Reason (R) : O JolfHe T Iql WA

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A) is correct but (R) is not correct

4. (A) is not correct but (R) is correct



Options :

92090636105. 1
92090636106. 2
92090636107. 3
92090636108. 4

Question Number : 28 Question Id : 9209069141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U YIged IadHT fduft teue 7eagd tehae w4 Hafd

1. UEg

2. TENH

3. UHld

4.  TEMH
Options :

92090636109. 1
92090636110. 2
92090636111. 3
92090636112. 4

Question Number : 28 Question Id : 9209069141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T YIE IaH] [dHi RS TgHYRY Thad+ &4 Hdfd

1. TEYg

2. gy

3. TEld

4.  UEMH
Options :

92090636109. 1
92090636110. 2
92090636111. 3
92090636112. 4



Question Number : 29 Question Id : 9209069142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  TEUSSINg 41 dd¥DI|
Reason (R) : UPWIE R4 9 Uhlea-1a®I1|

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4.  (A) is not correct but (R) is correct

Options :

92090636113. 1
92090636114. 2
92090636115. 3
92090636116. 4

Question Number : 29 Question Id : 9209069142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : TgUo=ITE Y1 ATl
Reason (R) : UPWIG Ul 9 Uhlea-dy®]|

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090636113. 1
92090636114. 2
92090636115. 3
92090636116. 4

Question Number : 30 Question Id : 9209069143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HUGH JUUT Hi
1. dil
2. HaTn
3. ©4dl
4. <du
Options :

92090636117. 1
92090636118. 2
92090636119. 3
92090636120. 4

Question Number : 30 Question Id : 9209069143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 gl

2. U4gum

3. 99

4 <dil
Options :

92090636117. 1
92090636118. 2
92090636119. 3
92090636120. 4

Question Number : 31 Question Id : 9209069144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UGH (R T FHY I AH 6l 317
1. g8HARa
2. B!
3. 3EdEy
4. 3HHI
Options :

92090636121. 1
92090636122. 2
92090636123. 3
92090636124. 4

Question Number : 31 Question Id : 9209069144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UGH YETHE (o THY I ATH el EI?

1. gEHRNd

2.  BIAMIDI

3. SelldEy

4. DI
Options :

92090636121. 1
92090636122. 2
92090636123. 3
92090636124. 4

Question Number : 32 Question Id : 9209069145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
“IRGHY TG HaRUE o yaa= 3¢ g=id -

1. Hl

2. el

3. Hfda

4. JusEl
Options :

92090636125. 1
92090636126. 2
92090636127. 3
92090636128. 4

Question Number : 32 Question Id : 9209069145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



"IRGa f¥a MaRur fod gad+ 3¢ =i -

1. Hu

2. el

3. Hiddr

4. JuaEl
Options :

92090636125. 1
92090636126. 2
92090636127. 3
92090636128. 4

Question Number : 33 Question Id : 9209069146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEagET T aEs! Al -
1. goUuE
2. HgHTd
3. HgHM
4. YU
Options :

92090636129. 1
92090636130. 2
92090636131. 3
92090636132. 4

Question Number : 33 Question Id : 9209069146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. g4

2.  HgMHTA

3. HgHFH

4.  HHUTA
Options :

92090636129. 1
92090636130. 2
92090636131. 3
92090636132. 4

Question Number : 34 Question Id : 9209069147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gifer JUUmHTAr 3¢ A gifd -
1. #H
2.+
3. 9
4. 3
Options :

92090636133. 1
92090636134. 2
92090636135. 3
92090636136. 4

Question Number : 34 Question Id : 9209069147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



qriel JUUHTETE 3¢ H glid -

1.
2. &
3.
4,
Options :

92090636133. 1
92090636134. 2
92090636135. 3
92090636136. 4

Question Number : 35 Question Id : 9209069148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR A Afeae- Fer wgiar ferar fagsid 1 g€ gwfd -

1. el

2. Hum

3. Hiad

4. GUaE
Options :

92090636137. 1
92090636138. 2
92090636139. 3
92090636140. 4

Question Number : 35 Question Id : 9209069148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



IR A Afeae- Fer wgiar ferar fagsid 1 g€ gwfd -

1. el

2. Hum

3. Hiad

4. GUaE
Options :

92090636137. 1
92090636138. 2
92090636139. 3
92090636140. 4

Question Number : 36 Question Id : 9209069149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT 4T EIid T 3ufd -
1. dai
2. Io0g
3. Orefegd
4. el
Options :

92090636141. 1
92090636142. 2
92090636143. 3
92090636144. 4

Question Number : 36 Question Id : 9209069149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



USHT YTHER 1T T 3ufd -

1. auifd

2. NNg

3. Urefergd

4, ATl
Options :

92090636141. 1
92090636142. 2
92090636143. 3
92090636144. 4

Question Number : 37 Question Id : 9209069150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T{%gﬁrﬂﬁmﬁﬂﬁfﬁ 2

1. dBdl

2. fa=al

3. gwdl

4.  dfgH
Options :

92090636145. 1
92090636146. 2
92090636147. 3
92090636148. 4

Question Number : 37 Question Id : 9209069150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. d&Dl

2. fa=l

3. dB@I

4. gD
Options :

92090636145. 1
92090636146. 2
92090636147. 3
92090636148. 4

Question Number : 38 Question Id : 9209069151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RO i FET arferd gifd -
1. TR
2. ERUI
3. WU
4. WO
Options :

92090636149. 1
92090636150. 2
92090636151. 3
92090636152. 4

Question Number : 38 Question Id : 9209069151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. IRT
2. IO
3. WU
4. WO
Options :

92090636149. 1
92090636150. 2
92090636151. 3
92090636152. 4

Question Number : 39 Question Id : 9209069152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Il g5 YHHaPhIddd dd Golld ?

1. ShOaAered

2. 9rUEE

3. dyTEd

4, PUMARME
Options :

92090636153. 1
92090636154. 2
92090636155. 3
92090636156. 4

Question Number : 39 Question Id : 9209069152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gfbga-iaTerd

2. 9RIUHE

3wy

4.  PUHARME
Options :

92090636153. 1
92090636154. 2
92090636155. 3
92090636156. 4

Question Number : 40 Question Id : 9209069153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s st sifd -
1. i
2. TF
3. TR
4. @
Options :

92090636157. 1
92090636158. 2
92090636159. 3
92090636160. 4

Question Number : 40 Question Id : 9209069153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. i

2. UF

3. TN

4 @
Options :

92090636157. 1
92090636158. 2
92090636159. 3
92090636160. 4

Question Number : 41 Question Id : 9209069154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR
1. HE HE
2. ATl
3. HisdH
4. TFTgH
Options :

92090636161. 1
92090636162. 2
92090636163. 3
92090636164. 4

Question Number : 41 Question Id : 9209069154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T AT

1. HE HE

2. AEdrem™I

3. UsdH

4, g™
Options :

92090636161. 1
92090636162. 2
92090636163. 3
92090636164. 4

Question Number : 42 Question Id : 9209069155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YA 3¢ 7 YR -
1. fewd
2. ddi¥d
3. =0
1 Hdl
Options :

92090636165. 1
92090636166. 2
92090636167. 3
92090636168. 4

Question Number : 42 Question Id : 9209069155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. fod

2. TdiEd

3. w4

4. 3dl
Options :

92090636165. 1
92090636166. 2
92090636167. 3
92090636168. 4

Question Number : 43 Question Id : 9209069156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gl | & |1y gt 1| 7 e Sife

List-I List-II
(A) | gofd () |9g
(B) | T () |9
(C) | gefd (i |
(D) | guid (V) | 59

- feu U fAeeal & & WEt I &1 99 Sif -
(A(IVY, (B)=(11); (C)=(lr), (D)

-y

2. (A (B (CH1): (D)HIV)

3. (A (B)=(1): (CH(IV); (D))

4. (A1) (B (C)=(11): (D)A1IV)
Options :

92090636169. 1
92090636170. 2
92090636171. 3
92090636172. 4

Question Number : 43 Question Id : 9209069156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & 91 gl 1| BT He Sifor :

List-I List—I1
(A) | gafa (h |93
(B) | Tesfd () |9
(C) | gafa () | q
(D) | g (V) | &9

- feu e fasedl & O dl IR F1 99 Bifoy ;
1. (AHIV); (B (Cy=(II); (DH1)
2. (AyI; (B)YI); (CHI): (D)HIV)
3. (A, (BY=(1); (Cy=(IV); (D))
4. (A)(1): (BN (C)=(11); (DIH1IV)

Options :

92090636169. 1
92090636170. 2
92090636171. 3
92090636172. 4

Question Number : 44 Question Id : 9209069157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 11 &7 e Sifo ;

List] List-II
(A) | fafer<usg () |famafes
(B) | Tz () | gafes
(C) | Srafem () | sffHeHtes
(D) | AgTE™I (V) | 3gfUes

i fGu 7 fawedl & © Wél SR &1 994 By ;
1. (AIV); (B)HI); (C)=(I); (D))
2. (A1) (BY(I); (CHHIV): (D))
3. (Al (BY(IV): (Cy=(I): (D)
4. (A)=(I); (B (CH(1); (DHAIV)

Options :

92090636173. 1
92090636174. 2
92090636175. 3
92090636176. 4

Question Number : 44 Question Id : 9209069157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 11 &7 e Sifo ;

List] List-II
(A) | fafer<usg () |famafes
(B) | Tz () | gafes
(C) | Srafem () | sffHeHtes
(D) | AgTE™I (V) | 3gfUes

i fGu 7 fawedl & © Wél SR &1 994 By ;
1. (AIV); (B)HI); (C)=(I); (D))
2. (A1) (BY(I); (CHHIV): (D))
3. (Al (BY(IV): (Cy=(I): (D)
(A)=(11): (BI(1); (CH(1); (DI1V)

i

Options :

92090636173. 1
92090636174. 2
92090636175. 3
92090636176. 4

Question Number : 45 Question Id : 9209069158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FSgRaT 3id US FHE i
1. &<
2. THURY
3. dgRy
4. wgdlle
Options :

92090636177. 1
92090636178. 2
92090636179. 3
92090636180. 4



Question Number : 45 Question Id : 9209069158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

weghar $id ue waTE i
1. §<
2. PHUNY
3. duiE
4. dgdlie
Options :

92090636177. 1
92090636178. 2
92090636179. 3
92090636180. 4

Question Number : 46 Question Id : 9209069159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : 3¢ @I U, [i9Ed, geagcd HRGH= |

Reason (R) : 4 O¥l 49 dUg HUHGREHE 9w, gicwgan, g,
EEIRE

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (&)

2.  Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A) is cormrect but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636181. 1
92090636182. 2
92090636183. 3
92090636184. 4



Question Number : 46 Question Id : 9209069159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : 3¢ @I U, fHaEd, goaaded gy |

Reason (R) : &I d¥Hl ¥d dUgl SrfEfaIrH—ae =mm, ufefrsgam, fgf,
STl |

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A) is correct but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636181. 1
92090636182. 2
92090636183. 3
92090636184. 4

Question Number : 47 Question Id : 9209069160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 1| 7 e Sifo

List— ListI|
(A) | 3ifr= () | g g=i=
(B) | JuaEl () | focTea
(C) | fera () | sEIfdeR
(D) | asfEmimm | (IV) | oeAe

d e T fawedl & § Wél SR &1 997 By ;
1. (A=) (BYHI); (CHIVY, (D)D)
2. (A (B)(IV): (CH(I1): (D)
3. (A(VY), (BIA1): (CH(1); (D)1
4. (A1) (B (CHIV): (D))

Options :

92090636185. 1
92090636186. 2
92090636187. 3
92090636188. 4

Question Number : 47 Question Id : 9209069160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 1| 7 e Sifo

List— ListI|
(A) | 3ifr= () | g g=i=
(B) | JuaEl () | focTea
(C) | fera () | sEIfdeR
(D) | asfEmimm | (IV) | oeAe

d e T fawedl & § Wél SR &1 997 By ;
1. (A=) (BYHI); (CHIVY, (D)D)
2. (A (B)(IV): (CH(I1): (D)
3. (A(VY), (BIA1): (CH(1); (D)1
4. (A1) (B (CHIV): (D))

Options :

92090636185. 1
92090636186. 2
92090636187. 3
92090636188. 4

Question Number : 48 Question Id : 9209069161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y gl 1| BT [Ha Sifoig :

List—] List—I!

(A) | ggH faufd N |g=

®) |gfrrffy | () |g2=

(C) | afcram faufa (I | g4

(D) | Tqgedt faufe (V) | g3

=it Ay 7Y fashedl § & Wl ITR &1 99 DIy ;
1 (A (B-(H); (CHIVY), (D)HM)

2. (AI); (By=(1): (C=(I): (DIHIV)

3. (A (BN (CHIV) (D)

4. (AHIV); (BIH1): (CH(); (D))
Options :

92090636189. 1
92090636190. 2
92090636191. 3
92090636192. 4

Question Number : 48 Question Id : 9209069161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 91y gl 1| BT [Ha Sifoig :

List! Listl
(A) | gaHT vl N |g=
(B) | gfcrar fauft () | g
(C) | wferam fauf (i | gt
(D) | =qedt fauf (V) | gama
=it Ay 7Y fashedl § & Wl ITR &1 99 DIy ;
(A1) (B)=(1l); (CH=(IV); (D))
2. (A (B)(1): (C)=(): (D(IV)
3. (A (B)(HT); (CHIV): (D)
4. (AHIV); (BIH(D): (C)=(li); (D(1)

—

Options :

92090636189. 1
92090636190. 2
92090636191. 3
92090636192. 4

Question Number : 49 Question Id : 9209069162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MH Ta—TTHar sfa O garar i@

1. SHYRY
2. TEA™
3. dgRY 9aE
4. dgdifg 99H
Options :

92090636193. 1
92090636194. 2
92090636195. 3
92090636196. 4



Question Number : 49 Question Id : 9209069162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TTa— TG T 3fd wE S i

1. SHYRY
2. TEA™
3. dgRY 9aE
4. dgdifg 99H
Options :

92090636193. 1
92090636194. 2
92090636195. 3
92090636196. 4

Question Number : 50 Question Id : 9209069163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Hed @RI gadl
Reason (R) : Y&d @RI Y 3eddl IWwid

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636197. 1
92090636198. 2
92090636199. 3
92090636200. 4



Question Number : 50 Question Id : 9209069163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Hed Hg@RI gadl
Reason (R) : Usd UGERI Y 3eqd] ST

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090636197. 1
92090636198. 2
92090636199. 3
92090636200. 4

Question Number : 51 Question Id : 9209069164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & T1Y gt 1| T e S

List-1 List-Il

W) |vem st | () |gEefRw

(B) | gferg aRawr=a () |geaagey

(C) | ddrg 3fivae= () | gg

(D) | Tdd AHRTH= (IV) | gea FRvemfee ofeger

d feu 7 fadedl & 9 el SR &1 997 B ;
1T (A (B (CH1): (DH(1V)
2. (A (Bl (C(IV): (D))
3. (AIV); (BIAI): (CH(H); (D))
4. (AL (BHIVY (CHH1): (D))

Options :

92090636201. 1
92090636202. 2
92090636203. 3
92090636204. 4

Question Number : 51 Question Id : 9209069164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & T1Y gt 1| T e S

List-1 List-Il

W) |vem st | () |gEefRw

(B) | gferg aRawr=a () |geaagey

(C) | ddrg 3fivae= () | gg

(D) | Tdd AHRTH= (IV) | gea FRvemfee ofeger

d feu 7 fadedl & 9 el SR &1 997 B ;
1T (A (B (CH1): (DH(1V)
2. (A (Bl (C(IV): (D))
3. (AIV); (BIAI): (CH(H); (D))
4. (AL (BHIVY (CHH1): (D))

Options :

92090636201. 1
92090636202. 2
92090636203. 3
92090636204. 4

Question Number : 52 Question Id : 9209069165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1Y SFHHT A
A, TUEYE, HEUEUE, dib i, BEdds
B. 3FUGTR, didh iy, HHGH, FUgas

D. HMHEY, TUEEY, IR=GIdo, Alhay
= feu U fahedl § § Wel 99R 31 99 Hiei

1. PhddA

2. @ddB

3. @ddacC

4. HddD
Options :

92090636205. 1
92090636206. 2
92090636207. 3
92090636208. 4

Question Number : 52 Question Id : 9209069165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
STY SFR A AT
A.  EUEG, HFUED, Wb, HIEEETE
B. 3EUEH, didIuy, MG, FUGEL
D. AW, TUET, HEUE, Hib
i o U fawedl & © Wt SR & 997 B ;

1. SddA
2. $duB
3. $dacC
4. $duD

Options :



92090636205. 1
92090636206. 2
92090636207. 3
92090636208. 4

Question Number : 53 Question Id : 9209069166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1l o HeThdq” 3id 9e& uifa &4 Hafd -

1. HY™ guH Helbd
2. UM OH HeThHH
3. UY oW HEq B
4. 44 fqd Hehd

Options :

92090636209. 1

92090636210. 2

92090636211. 3
92090636212. 4

Question Number : 53 Question Id : 9209069166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ad Helh oy 3id 9e& giiel &4 Hafd -

1. HY™ g Heglbd
2. Y™ UH HeThaH
3. Y Gt Hgdq BeH
4. Y e g

Options :

92090636209. 1

92090636210. 2

92090636211. 3
92090636212. 4



Question Number : 54 Question Id : 9209069167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Hed GG@RI gadl
Reason (R) : Wsd Ug@Ml Y T0=U] JTwSl-d

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of [A)

2.  Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A) is comrect but (R) is not correct
4. (A) is not correct but (R) is correct

Options :

92090636213. 1
92090636214. 2
92090636215. 3
92090636216. 4

Question Number : 54 Question Id : 9209069167 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : Hed US@RI gadl
Reason (R) : Ui USWEM Y =TT Il

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A) is comrect but (R) is not correct

4. (A) is not correct but (R) is correct



Options :

92090636213. 1
92090636214. 2
92090636215. 3
92090636216. 4

Question Number : 55 Question Id : 9209069168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y 3

A. U THYG Wal

B. USBG Hd YiEl
C. U THY Wil

D. UHIHA §HY YiIdd:
i feu v fAeeal & @ WEt 39X &1 99 Sifeg -

1. Hdd A

2. ddB

3. @adcC

4. HddD
Options :

92090636217. 1
92090636218. 2
92090636219. 3
92090636220. 4

Question Number : 55 Question Id : 9209069168 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yy >

A, Ud gAY W

B. UDHA gHd Yidl

C. U THY WiEl

D. UHGH 9Hd Wiaa:

19 fu ¢ fashedl # 9 wEt IR F1 99 B ;

1. $adA

2. ©ddB

3. @adcC

4. HadaD
Options :

92090636217. 1
92090636218. 2
92090636219. 3
92090636220. 4

Question Number : 56 Question Id : 9209069169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : HHIGIg—THEdDA
Statement Il : =g R G=I1 A0

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true

2. Both Statement | and Statement || are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true
Options :

92090636221. 1
92090636222. 2



92090636223. 3
92090636224. 4

Question Number : 56 Question Id : 9209069169 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : HEIEfs—amGdlD-
Statement |l : =gy AT F= A0

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2. Both Statement | and Statement || are false
3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090636221. 1
92090636222. 2
92090636223. 3
92090636224. 4

Question Number : 57 Question Id : 9209069170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



GO g STyFhal i

A Fema, rET, Saga-an, AgE, Tae
B. TR, Gedc-aul, HgTaw, Fmyaw, e
C.  Hgd-aw, HIaw, WEE, e, e
D. Gy, e aT, TG, Gadd-aw], Helam
-4 13T U fadedl © O HEl I &1 98- By ;

1. A
2. B
3 C
4 D
Options :

92090636225. 1
92090636226. 2
92090636227 3
92090636228. 4

Question Number : 57 Question Id : 9209069170 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
e a ATeEEHr A
A, FgFEanh, @rE, geaanT, TeEa, Sa
B. WG, UecHaW, HETWI, FTdaw, FHeran
C.  Hoga-gul, Hgawil, Tayaa, Fgral, S
D. Wﬁ“ﬂ ﬁ?ﬁﬂ?ﬂ,m dciHd-dil, Helgdll
- fGu 7Tu faeedl © 9 \el 9ux &1 994 B

1. A
2. B
& K



Options :

92090636225. 1
92090636226. 2
92090636227. 3
92090636228. 4

Question Number : 58 Question Id : 9209069171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : e YERT A=l
Statement Il : O i T@dl & Hedl o = Gf

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement |l are true

2. Both Statement | and Statement || are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

92090636229. 1
92090636230. 2
92090636231. 3
92090636232. 4

Question Number : 58 Question Id : 9209069171 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement | : e YERT =l
Statement Il : O i< T@dl &7 Gadl of = af

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement || are true
2 Both Statement | and Statement || are false
3.  Statement | is true but Statement Il is false
4.  Statement | is false but Statement |l is true

Options :

92090636229. 1

92090636230. 2

92090636231. 3
92090636232. 4

Question Number : 59 Question Id : 9209069172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : 3FJAET UldH THWIGH $Y+ IHAT Tifd aifdwm g=m

Statement Il : HHRI 3G He1gifd, s@ddl =

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement Il are false
3.  Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090636233. 1
92090636234. 2
92090636235. 3
92090636236. 4



Question Number : 59 Question Id : 9209069172 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : 3G UleH THWGH $YH IEAT gIfd fawm =

Statement |l : HHRI 3G FeA1gifd, sigdHl =

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3.  Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090636233. 1
92090636234. 2
92090636235. 3
92090636236. 4

Question Number : 60 Question Id : 9209069173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : U=l SHWICGH $¢ U fdwil Teadl @RI
Statement Il : T U] & AU YT Adelrd ITSld

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false

Statement | is true but Statement |l is false

L

Statement | is false but Statement Il is true



Options :

92090636237. 1
92090636238. 2
92090636239. 3
92090636240. 4

Question Number : 60 Question Id : 9209069173 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Ui¢w THWOIGH 3¢ USRI Hidwll T=Hl @RI
Statement Il : T Ul ¢ U ¥ AdaE STl

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement |l are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

92090636237. 1
92090636238. 2
92090636239. 3
92090636240. 4

Question Number : 61 Question Id : 9209069174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Yy AT
A. I H TafuEd

B. ®IH afaftwla
C. ¥ Hal iUt
D. ¥ ¥ 3fragwEid
14 fu ¢ fashed # 9 WEt IR F1 99 B ;
1. @dd A
2. ®ad B
3. @dd C
4. ®Hdd D
Options :

92090636241. 1
92090636242. 2
92090636243. 3
92090636244. 4

Question Number : 61 Question Id : 9209069174 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1y 3
A. GO e
B. ®IH @i
C. ¥ HaT AUt
D. ¥ # aafuefd
44U 71g faeredl © O \El 9uv &1 994 By

1. dd A

2. ®dd B

3. ®ad C

4. ®ad D
Options :

92090636241. 1



92090636242. 2
92090636243. 3
92090636244. 4

Question Number : 62 Question Id : 9209069175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ty 3
A EIeS + 3l = Siield]

B. I + 3T = IMET

C. PRSP + M = FINDI

D. i+ =
- f&u Ty [aedl & § WEl SR &1 997 Bifoig :
1. ad A
2. &dd B
3. ®dd C
4. &dd D
Options :

92090636245. 1
92090636246. 2
92090636247. 3
92090636248. 4

Question Number : 62 Question Id : 9209069175 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ty 3
A, TIES + T = Siicia!
B. ¥ + 3T = 9!

C. BRD + A = FIDHI

D. g + ¥ =il
i U Ty fgwedt & 9 wét IR &1 997 B :
1. &dd A
2. &dd B
3. @dd C
4. Had D
Options :

92090636245. 1
92090636246. 2
92090636247. 3
92090636248. 4

Question Number : 63 Question Id : 9209069176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : Uicaidd Uicw GUWG Sy 30T Siid—aifd=mg AR
TER =R

Statement Il : HER R fawmor AR

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement || are false
3.  Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :
92090636249. 1



92090636250. 2
92090636251. 3
92090636252. 4

Question Number : 63 Question Id : 9209069176 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : U@ Ufew GqWEs &y 301 gifd—aifdsmg e
HER FRIE

Statement Il : TW@R FRIUT fawimor AR

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement Il are false

3. Statement | is true but Statement |l is false

4. Statement | is false but Statement Il is true
Options :

92090636249. 1
92090636250. 2
92090636251. 3
92090636252. 4

Question Number : 64 Question Id : 9209069177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATREFH Al A -

A TEE TP, TS Yhod, TS 10, TS BH
B. TWD Udey, IS €Y, W a1vll, riep i
C. TS amhl TS e}, TIg Yo, T HH
D. UHG $H, GEF €Y, GG Udhed, 9P amil
e fgu U 9wl © § WEl IR &1 994 Sieg :

1. A
2. B
3. C
4. D
Options :

92090636253. 1
92090636254. 2
92090636255. 3
92090636256. 4

Question Number : 64 Question Id : 9209069177 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ARl A -

A T R, TR e, erae amll, g S
B. WG Whed, GG TV, T avil, TP B
C. I aIvil, I TP, FHp Hehed, D HH

D. Y% HH, GG P, YD Hdhed, YD At
i Eu e Aol § @ WEl SvR &1 99 Sife -

1. A
2. B
3. B



Options :

92090636253. 1
92090636254. 2
92090636255. 3
92090636256. 4

Question Number : 65 Question Id : 9209069178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement| : DHGE fod HHE B HIGATHD HATHH |
Statement Il : H-IHE - UH 9, giad I, afdd oH, S IHIIH I+ 9

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true
2. Both Statement | and Statement |l are false
3.  Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true

Options :

92090636257. 1
92090636258. 2
92090636259. 3
92090636260. 4

Question Number : 65 Question Id : 9209069178 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement| : HHECN O HHC HH HIGTHY HAIHEH |
Statement Il : HAIDbE - UaH M, giad I, dfdd oIH, I IR I=IH I+ 9

In the light of the above statements, choose the correct answer from the options
given below :

1. Both Statement | and Statement Il are true

2. Both Statement | and Statement || are false

3. Statement | is true but Statement Il is false

4. Statement | is false but Statement Il is true
Options :

92090636257. 1
92090636258. 2
92090636259. 3
92090636260. 4

Question Number : 66 Question Id : 9209069179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e Sfe -
A, 3 > 3T
B. 3> 3fwil
C. 3> 3l
D. 3M%: > 3¢l
e fou T ot § O udt IwR &1 9ud $iforg -
1. dd A
2. &dd B
3. ®dd C
4. ®ad D
Options :

92090636261. 1
92090636262. 2
92090636263. 3



92090636264. 4

Question Number : 66 Question Id : 9209069179 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1Y i -
A, U > WAl
B. 3> 3wl
C. 3> 3l
D. 3f%: > 3¢l
-9 3w e fawredl & O wet gax &1 994 S
1. ad A
2. &dd B
3. ®dd C
4. &dd D
Options :

92090636261. 1
92090636262. 2
92090636263. 3
92090636264. 4

Question Number : 67 Question Id : 9209069180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl dIEha! e -

A dafem, afcemten, Sgafen, sfaten
B. Wicgmim, SHfHesy, Gaatien, dmtsn
c  GguRem, afegaRiemE, duten, SwREeE

D. &Y, Hgaey, afcemie, siaiHen
-t fU Y fasb el F @ Wet IR BT 9T P

1. A
2. B
3 C
4 D
Options :

92090636265. 1
92090636266. 2
92090636267. 3
92090636268. 4

Question Number : 67 Question Id : 9209069180 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gafye e QIeahH! e -

A <rafiem, afsemte, Sgaiied, sRed
. wfcgmem, {ufen, dguten, simfen
C. Ao, AfcEHEE, ey, ey

D. cHfHer, Sgatien, AfceEHSH, sy
e feu U fasedl § § W8l Iw &1 9ud B :

1. A
2. B
3 G
4 D

Options :



92090636265. 1
92090636266. 2
92090636267. 3
92090636268. 4

Question Number : 68 Question Id : 9209069181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ATRFHHT A -
A, U, gigal, seum, W
B. T, gicdr Foum, 3uaf
c. T, Teun, gica, 3uan
D. &oun, Hiddr, A5, 30en
-4 U 7Ty fa@edl & 9 \et G &1 997 S

1. A
2. B
3 C
4. D
Options :

92090636269. 1
92090636270. 2
92090636271. 3
92090636272. 4

Question Number : 68 Question Id : 9209069181 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ATREFHHT A -

A, Jugf, gicar, Hoom, #E

B. T, Hfcar, Houm, Iuan

C. T, Heun, Hiear, Iuan

D. &oum, Hical A5, 30an

- U e [aeedl & 9 \et Sav &1 994 S

1. A
2. B
3 C
4. D
Options :

92090636269. 1
92090636270. 2
92090636271. 3
92090636272. 4

Question Number : 69 Question Id : 9209069182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Asseriion (A) and the other
is labelled as Reason (R) :

Assertion (A) : TIeaT O 3feiid, Sy 3= 91
Reason (R) : duifd amm =i

In the light of the above statements, choose the correct answer from the options
given below :

ik

Both (A) and (R) are true and (R) is the correct explanation of (A)

2 Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4 (A) is false but (R) is true

Options :
92090636273. 1



92090636274. 2
92090636275. 3
92090636276. 4

Question Number : 69 Question Id : 9209069182 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : e U= 3o, sy iAo 91
Reason (R) : auIfd 3 A1

In the light of the above statements, choose the correct answer from the options
given below :

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation of (A)
3. (A)is true but (R) is false

4. (A) is false but (R) is true

Options :

92090636273. 1
92090636274. 2
92090636275. 3
92090636276. 4

Question Number : 70 Question Id : 9209069183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 70
2. 72
3. 80
4. 90

Options :



92090636277. 1
92090636278. 2
92090636279. 3
92090636280. 4

Question Number : 70 Question Id : 9209069183 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. 70
2. 72
3. 80
4. 90
Options :

92090636277. 1
92090636278. 2
92090636279. 3
92090636280. 4

Question Number : 71 Question Id : 9209069184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3ifiermAe e ATy SrjFRH! il -

A, T, urgey, gegsS, e

B. Iyl YiTeiassid, g for, faum

c. T, urgey, errg on, gadss

D. IO, fau, ergeyr, gregssiid

e fau U fo@edl & T HEl S9N &1 994 S -

-
2 B
3 B
4. D
Options :

92090636281. 1
92090636282. 2
92090636283. 3
92090636284. 4

Question Number : 71 Question Id : 9209069184 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SifiermeH e |y SrfapH! 3 -
A, T, uTgeyn, grregssiid, g ol
B. Tl PIic=sIi, S o, faum
C. T, eTgehul, sy, giesesii

D. YHHIU, {47, YTy, giedssiid
+ta feu U fawedl § 3 98 IR &1 9u Bty :

1. A
2. B
3 G
4 D

Options :



92090636281. 1
92090636282. 2
92090636283. 3
92090636284. 4

Question Number : 72 Question Id : 9209069185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Hicl GHIY ==l d|

Reason (R) ﬁ'ﬁ@'ﬂ] |

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636285. 1
92090636286. 2
92090636287. 3
92090636288. 4

Question Number : 72 Question Id : 9209069185 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Hicdl GHIY ==l 4|

Reason (R) : ﬁg@m |

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both (A) and (R) are correct and (R) is the correct explanation of (A)

2. Both (A) and (R) are correct but (R} is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A)is not correct but (R) is correct

Options :

92090636285. 1
92090636286. 2
92090636287. 3
92090636288. 4

Question Number : 73 Question Id : 9209069186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : FeamATa YR IFEO Hewdl|
Reason (R) : UgH™dH= HH@AHIWR|

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are cormrect but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct
4. (A) is not correct but (R) is correct
Options :
92090636289. 1

92090636290. 2
92090636291. 3



92090636292. 4

Question Number : 73 Question Id : 9209069186 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : FeamATa YR IFEO Hewdl|

Reason (R) : UgHEdH== HHGEIHIWR|

In the light of the above statements, choose the most appropriate answer from
the options given below :

1. Both (A) and (R) are correct and (R) is the correct explanation of (A)

2.  Both (A) and (R) are cormrect but (R) is not the correct explanation
of (A)

3. (A)is correct but (R) is not correct

4. (A) is not correct but (R) is correct

Options :

92090636289. 1
92090636290. 2
92090636291. 3
92090636292. 4

Question Number : 74 Question Id : 9209069187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YITad! G50 it Sl U oild?
1. Piuddy
2. grIE
3. Jeddd - JieEEl
4. =
Options :

92090636293. 1
92090636294. 2
92090636295. 3



92090636296. 4

Question Number : 74 Question Id : 9209069187 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YITddl gt TEMY o U Sid?
1. Uddd]
2. RO
3. Jeddd - SIYTEl
4. A<
Options :

92090636293. 1
92090636294. 2
92090636295. 3
92090636296. 4

Question Number : 75 Question Id : 9209069188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3¢ SRIfdgI giaTuurd -
1. =
2. qadl
3. SFIE
4. Hfgdr
Options :

92090636297. 1
92090636298. 2
92090636299. 3
92090636300. 4

Question Number : 75 Question Id : 9209069188 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. 3=

2. gadl

3. A

4. Hfear
Options :

92090636297. 1
92090636298. 2
92090636299. 3
92090636300. 4

Question Number : 76 Question Id : 9209069189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R o §¢ URATUULd -
1. 3
2. ®Y
3. de
4. T
Options :

92090636301. 1
92090636302. 2
92090636303. 3
92090636304. 4

Question Number : 76 Question Id : 9209069189 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 3l
2. ®q
3. del
4. T
Options :

92090636301. 1
92090636302. 2
92090636303. 3
92090636304. 4

Question Number : 77 Question Id : 9209069190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

c. ddzfa yert=a, it amfig=a
D. wuiusiy, ddsfzm, sasf=a wfasfa
= fou U fadeal § 3 9El IO &1 994 Sifog :

1. A
2. B
3 B
4 D
Options :

92090636305. 1
92090636306. 2
92090636307. 3
92090636308. 4

Question Number : 77 Question Id : 9209069190 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
AEFHHT A —
A wfastzy, s, s, gaiis=a
B. sRi=y, Az wiosf, vt
c. driEm yentE wie emie=a

D. TRy, s, s, S
e feu o faeeal # & 98l IO &1 99 sifon

1. A
2. B
3. G
4 D
Options :

92090636305. 1
92090636306. 2
92090636307. 3
92090636308. 4

Question Number : 78 Question Id : 9209069191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s af -
1. fg
2. fafor
3. T
4. TF
Options :

92090636309. 1
92090636310. 2
92090636311. 3
92090636312. 4



Question Number : 78 Question Id : 9209069191 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fftes = |f= -
1. fg
2. fafor
3. T
4. TF
Options :

92090636309. 1
92090636310. 2
92090636311. 3
92090636312. 4

Question Number : 79 Question Id : 9209069192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufew FqWIe 3¢ 7 8ifd -
1. fdwn
2. HEr
3, fd=armi
4. 3ff=n
Options :

92090636313. 1
92090636314. 2
92090636315. 3
92090636316. 4

Question Number : 79 Question Id : 9209069192 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. fdw

2. TERI

3. fassmo

4. i
Options :

92090636313. 1
92090636314. 2
92090636315. 3
92090636316. 4

Question Number : 80 Question Id : 9209069193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gAFAdanaHT Ia A -
1. deues
2. YU
3. HEHMHBIE
4. A
Options :

92090636317. 1
92090636318. 2
92090636319. 3
92090636320. 4

Question Number : 80 Question Id : 9209069193 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gouad

2. YOS

3. HEFHHE

4. MG
Options :

92090636317. 1
92090636318. 2
92090636319. 3
92090636320. 4

Question Number : 81 Question Id : 9209069194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement| : 3FUGH O - HAA o< HAIBH HIGAHE 9

Statement Il : 3REUEER [ dqer—
HEEFIAA, I sfegmdd A9 @ q
RESIUGE

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both Statement | and Statement |l are correct

2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Options :

92090636321. 1
92090636322. 2
92090636323. 3
92090636324. 4

Question Number : 81 Question Id : 9209069194 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :
Statement| : SFUEN o< - $Ud fOd THIGH UigAHd

Statement Il : 3R=UGER e dAge—

HHRHITa, fdeemnmamey sfegmad A9 9wm d
RS UGE

In the light of the above statements, choose the most appropriate answer from
the options given below :

1.  Both Statement | and Statement |l are correct

2.  Both Statement | and Statement |l are incorrect
3.  Statement | is correct but Statement |l is incorrect
4.  Statement | is incorrect but Statement |l is correct

Options :

92090636321. 1
92090636322. 2
92090636323. 3
92090636324. 4

Question Number : 82 Question Id : 9209069195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl | & Y gt 1| 7 e Sifog

List=l List=Il
(A) | gaHr v srgliga! Tl () | g Egw
(B) | gt st argferat wwni () | G
(C) | afca s srgfget wai () | T g
(D) | TqRa ifea ergferat it (V) | am iefg

d G e fasmedl # 9 el IR &1 997 DIy ;
1. (A): (B (T, (D)(IV)
2. (A1) (B)=(IV); (CH(1): (DA
(A)=(1I): (B)=(HI); (CHIVY, (D)D)
(AHIV): (B)(1): (C)=(I); (D)(1)

ol



Options :

92090636325. 1
92090636326. 2
92090636327. 3
92090636328. 4

Question Number : 82 Question Id : 9209069195 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gl 1| &7 B Hiforg :

List=I List=II
(A) | it st argferapt mm () | s
A m— () | e
(©) | o s st s ) | A
©) |aqer ot sgfemt Tt | (v) | s kR

e 5T U [dwedl H O 9El IR &1 994 DI ;
1. (A1) (BY(I); (S (D(IV)

2. (AI); (By=(IV): (CHI): (D)1

3. (AN (BN (CH(IV): (D)

4. (AHIV): (BIHI): (CH(); (D))
Options :

92090636325. 1
92090636326. 2
92090636327. 3
92090636328. 4

Question Number : 83 Question Id : 9209069196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Tagfgwan

2. <lud=n

3. <leddl

4. WEEH
Options :

92090636329. 1
92090636330. 2
92090636331. 3
92090636332. 4

Question Number : 83 Question Id : 9209069196 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UEd g e a1 3 -
1. fagigwmm
2. <lud=n
3. el
4. WEEH
Options :

92090636329. 1
92090636330. 2
92090636331. 3
92090636332. 4

Question Number : 84 Question Id : 9209069197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gdted

2. foaftes

3. HftemiUed

4.  IffUeh
Options :

92090636333. 1
92090636334. 2
92090636335. 3
92090636336. 4

Question Number : 84 Question Id : 9209069197 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1. gdted

2. foaftes

3. HftemiUed

4.  IffUeh
Options :

92090636333. 1
92090636334. 2
92090636335. 3
92090636336. 4

Question Number : 85 Question Id : 9209069198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 11 7 e Sife :

List] List-I
(A) | TTERTET () | dgiE
(B) | o () | smufa
(C) | Tagwrd () le<

(D) | arfaf (IV) | 3eagiurg

- feu e fawmedl & § wdt IR &1 994 Bifog :
1. (AHIV); (BHAD: (CH(); (D)
2. (A): (BY(I: (C)y=(I); (DHIV)
3. (AHN); (BIV); (CHA1I; (D)HT)
4. (A (B)=(I); (CH(1): (DHHIV)

Options :

92090636337. 1
92090636338. 2
92090636339. 3
92090636340. 4

Question Number : 85 Question Id : 9209069198 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & Ty gt 11 7 e Sife :

List] List-I
(A) | TTERTET () | dgiE
(B) | o () | smufa
(C) | Tagwrd () le<

(D) | arfaf (IV) | 3eagiurg

- feu e fawmedl & § wdt IR &1 994 Bifog :
1. (AHIV); (BHAD: (CH(); (D)
2. (A): (BY(I: (C)y=(I); (DHIV)
3. (AHN); (BIV); (CHA1I; (D)HT)
4. (A (B)=(I); (CH(1): (DHHIV)

Options :

92090636337. 1
92090636338. 2
92090636339. 3
92090636340. 4

Question Number : 86 Question Id : 9209069199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1Y 3 -

A - g
B. gREH - gRH
c IR - R
D. JREM - IRE:
4 74U e [aeedl & 9 \Et IwR &1 997 S
1. ®ad A
2. dd B
3. ®au C
4. ®Hdd D
Options :

92090636341. 1
92090636342. 2
92090636343. 3
92090636344. 4

Question Number : 86 Question Id : 9209069199 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1y i -

A - g

B. gREH - gRH

C. RE - gfd

0. TR - g

- feu e fawedl & 3 Ol SR &1 994 Sy ;
1. ®ad A
2. dd B
3. ®au C

4. ©AA D



Options :

92090636341. 1
92090636342. 2
92090636343. 3
92090636344. 4

Question Number : 87 Question Id : 9209069200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g5dd it e [awifd?
1. WeoHeH
2. <HHem
3. wicgmHaR
4,  YgdHed
Options :

92090636345. 1
92090636346. 2
92090636347. 3
92090636348. 4

Question Number : 87 Question Id : 9209069200 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a4 Hitg MM =i
1. GEdHeE
2. <Al
3. HfczmeR
4. HgdHed
Options :

92090636345. 1
92090636346. 2
92090636347. 3
92090636348. 4



Question Number : 88 Question Id : 9209069201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T eToTa R TR A -
1. S S
2. HATGA D
3. HIdd B
4, HEAld
Options :

92090636349. 1
92090636350. 2
92090636351. 3
92090636352. 4

Question Number : 88 Question Id : 9209069201 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TifeToTer Turey T A -
1. S AH
2. HWTAEA A&

3.  HIdd AEW
4.  HEAMd

Options :

92090636349. 1
92090636350. 2
92090636351. 3
92090636352. 4

Question Number : 89 Question Id : 9209069202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



C. TNEUYD T
D. UH G T
= feu U Aol § § WEl I9R 31 999 Hifei

1. A
2. B
3 C
4. D
Options :

92090636353. 1
92090636354. 2
92090636355. 3
92090636356. 4

Question Number : 89 Question Id : 9209069202 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C. TNEIH T
D. UB G &
= feu U ol ¥ § WEl I9% $1 999 Sifei

1. A
2: B
3. C
4. D

Options :



92090636353. 1
92090636354. 2
92090636355. 3
92090636356. 4

Question Number : 90 Question Id : 9209069203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfdg ymEgiiod GUuHE! eI -
1. HgewEdl
2. gdi
3. 3l
4. WMy foeadd
Options :

92090636357. 1
92090636358. 2
92090636359. 3
92090636360. 4

Question Number : 90 Question Id : 9209069203 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dfdg ymEgiiod GUuHE! eI -
1. HgewEdl
2. gdi
3. 3l
4. WMy foeadd
Options :

92090636357. 1
92090636358. 2
92090636359. 3
92090636360. 4

Question Number : 91 Question Id : 9209069204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

UgH Agifad i< Uiy -
1. fod
2. uH
3. i
4. Sde
Options :

92090636361. 1
92090636362. 2
92090636363. 3
92090636364. 4

Question Number : 91 Question Id : 9209069204 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USH Fgifad i<l g -
1. fod
2. uH
3. it
4. e
Options :

92090636361. 1
92090636362. 2
92090636363. 3
92090636364. 4

Question Number : 92 Question Id : 9209069205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g srgfyennT gt af -

1.
2. 9d
3.
4. &4
Options :

92090636365. 1
92090636366. 2
92090636367. 3
92090636368. 4

Question Number : 92 Question Id : 9209069205 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oifa argRream argaf af —
1. &
2. ¥Hd
3. 35
4 <9
Options :

92090636365. 1
92090636366. 2
92090636367. 3
92090636368. 4

Question Number : 93 Question Id : 9209069206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. OFEE

2. wWE

3. [Frdiaats

s TR
Options :

92090636369. 1
92090636370. 2
92090636371. 3
92090636372. 4

Question Number : 93 Question Id : 9209069206 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afeatsaor s ue w e -
1. OFEE
2. wWE
3. [Frdiaats
s TR
Options :

92090636369. 1
92090636370. 2
92090636371. 3
92090636372. 4

Question Number : 94 Question Id : 9209069207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g5 e YaHl fauft Uhadad ¥U ydfd —

1. g
2. g&
3. 3=
4. T
Options :

92090636373. 1
92090636374. 2
92090636375. 3
92090636376. 4

Question Number : 94 Question Id : 9209069207 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

95 Tea g fqufty tehae wu vafd -
1. g%
2. gl
3. 9%
4. 95
Options :

92090636373. 1
92090636374. 2
92090636375. 3
92090636376. 4

Question Number : 95 Question Id : 9209069208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



3T aglfghan 3¢ 9 gifd -

1. ffdwn

2. g fRf

3. HE$ Hhul

4. HH gt
Options :

92090636377. 1
92090636378. 2
92090636379. 3
92090636380. 4

Question Number : 95 Question Id : 9209069208 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e srgfgammmr gg A8 -
1. fdwn
2. e fefg
3. 9Ed ahul
4, S 4qroft
Options :

92090636377. 1
92090636378. 2
92090636379. 3
92090636380. 4

Question Number : 96 Question Id : 9209069209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gidan ymragifa smarferar -
1. SguRHsEHUR afdd A
2. gouRHeaHIu U ad g
3. TA9d gsuNFsaHR
4. UFHd §EUNHEHIR

Options :

92090636381. 1
92090636382. 2
92090636383. 3
92090636384. 4

Question Number : 96 Question Id : 9209069209 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfovan s s -
1. deuRFeaHO dfdg 9
2. geuRHeEHIUI Uhdd ae
3. Pud geuiNHsaHT=
4. I §EURMsEIRI

Options :

92090636381. 1
92090636382. 2
92090636383. 3
92090636384. 4

Question Number : 97 Question Id : 9209069210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. gal

2. gurfer

3. T

4. =l
Options :

92090636385. 1
92090636386. 2
92090636387. 3
92090636388. 4

Question Number : 97 Question Id : 9209069210 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s gos 74 3E1 -
1. gal
2. Juia
3. Al
4, <1
Options :

92090636385. 1
92090636386. 2
92090636387. 3
92090636388. 4

Question Number : 98 Question Id : 9209069211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. PiudayfEe

. :

3. il

4. o9t
Options :

92090636389. 1
92090636390. 2
92090636391. 3
92090636392. 4

Question Number : 98 Question Id : 9209069211 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R Tt 3y -
1. BOaayE
2. R
3. Al
4. dgret
Options :

92090636389. 1
92090636390. 2
92090636391. 3
92090636392. 4

Question Number : 99 Question Id : 9209069212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 [CLE FLun)

2. HEdAMHl

3. =l

4. gIrdr
Options :

92090636393. 1
92090636394. 2
92090636395. 3
92090636396. 4

Question Number : 99 Question Id : 9209069212 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g eTed TIGAT A ST -
1. JW-doo
2. HEd=Hl
3. -l
4. Hulrdl
Options :

92090636393. 1
92090636394. 2
92090636395. 3
92090636396. 4

Question Number : 100 Question Id : 9209069213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1. Hul

2. e

3. gfcd

4. 3=
Options :

92090636397. 1
92090636398. 2
92090636399. 3
92090636400. 4

Question Number : 100 Question Id : 9209069213 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SEIGER 3¢ 0 AT -
1. #u
2. Heul
3. gfcd
4. 3=
Options :

92090636397. 1
92090636398. 2
92090636399. 3
92090636400. 4



